Reducing Fractions

1.  Find a number that will go into both the top and bottom number evenly.

2. Divide this number by the top and bottom number.

3. Reduce again if needed.

6 divide by 2    =3      

3  divide by 3  =1

6  divide by 6   =1

4  divide by 4 = 1
 



8  divide by 2  = 4

6 divide by 3   =3

12 divide by 6  =2

8 divide by 4  = 2

NOTE:

(Answer is ½ when the top number is multiplied by 2 equals the bottom number.)



(Examples:  2/4, 4/8, 3/6, 12/24, 50/100 etc.)
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Search for multiples: of 3, 4, 12 = 12  

  3:  3, 6, 9, 12
  4:  4, 8, 12
12: 12

Search for multiples of:  2, 4, 5 = 20

2:  2, 4, 6, 8, 10, 12, 14, 16, 18, 20
4:  4, 8, 12, 16, 20
5:  5, 10, 15, 20
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